1. ohe A 1 F Aol ey A, Aol A8 H 22 Az

ZroH?

(—13)—(-22)+(+27)—(+16) —®
=(—=13)+(+22)+(+27)+(—-16) =
=(—13)+(—-16)+(+22)+(+27) :©
:{(—13)+(—16)}+{(+22)+(+17)}:®
=—(13+16)+(22+17) :@
=(—-28)+(+39) «—@
=+11
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2. axb>0,bxc<0,a>c ¥, 2 =22 ALY

@ a>0,b>0,¢>0 @ a>0,b>0,¢c<0

® a>0,b<0,c<0 @ a>0,b<0,,c<0

® a<0,b<0,¢c<0
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® a<0°]¥ (-a)* <0 |t}

@ (a-b)?>0

® a>0, ab<0°|Ha-b>00|c}t
@ a-b>0

® a+b>a-»b
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ad®b=a+b-"7
aob=a-b+2
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9. theg Atslelal,
(1-3) (o g0) < (1-5) {1+ 55) < (15)
(1 5) % (1-55) (1+3)
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10. 94715 o of 3] that 2ol Hold uf, sod 5 Fatolet.

101=0,102=-1,202=2,203=1
404 =12, 505 =20 , 506 = 19 , 10010 = 90
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